T;ML eszeA A.Uv:]* \P-?/"lvlr\a-u]-‘ovx;

Co (gqr w- were {YO MLPAJ n J%WU\ b AL’-—LO\ J_go\qt

fchnécliwdfu' C,uuu“\h : f‘[‘; = p‘l/-H
,/‘t\ % - ﬁw wL«‘cL we /o[-L\:H EJ d@?la(f ¢t E4

vartable separadive  Y(R}) = e B V=)
= RYrF) = e %)
SD J,Cufxl 5@/‘««“\)'—\ L‘Eb\'é
(R = Z e Tl W) €
/ T

~ ma/l he a-«dh"\d
(\A,Z,M - - ) bmJ' Qt“‘AL

Mw we add due J_Lp-twdzwq and

s Lt Mawildonian o Ho + H, (L)
tel’ ¢ assume we can csolue
Bt s BV dln (YE s e el sk
an d Wv tﬁm«dﬂ’w\ ce w
b cxrcue::( ag 2 C. 4:)



Hos is drue por $EF): Wf,") = (f+t,0) Viea)= ik < = VR
Yt7) = Z cnld) ¢ R )

ww\par?nj with (=) Cun ¢ .ﬁam .Jepwc!u«vl7

for Comvinience  We 'iTp [t ‘{]('ﬁyﬂ) -— \U({) V/r) ’W
Lel

5 (He et ) PEP= Zcntt) e T r‘%wm\w”) =

= ék.l W}/H "”*Z( 4 0 - _E: } _{E.L J:/J;\V]mg
«
+ Hy)

Cw
'—ZC (-L) U:’.LA_‘, ( F” ) (o)

e &Y (P =
Ld ¢ “mu «La‘rb” LJ <&P€,I and recall an AV >¥S€\v\

C(E’”*Ef’)f
&«

o) .
d C&“‘) = Z G () a(g;lm(e)\\PLB

Pty exaid - bt omplienled
S9mCe S ¢, mlaing Cp



We wi N J/o P—Cr .Lu\rl)avL ot Lr? ck
and assume H,‘ sw\a[[ = H,, —> )HJ

ro)

cnlt) = ¢ el LoeM T <

CO//cchWA -Lcr-w\s ~>\ we. e

(o) o] I
;i'.'bc‘t =0 ; yivmoer 4{}{'[)'{4'\1/ > > .-

Mexd we assane thal g 4 ha?-}ial P [“’““//7 0"(’“5

/a7

e fjs,&wy "ovd s WL erer el 7L
and  dhen Hy (£) bs"ow”]

=D C\:):g,.; and Cixw(0)=-0/t&0rauj k>4
led’ s pous  on N ke
o) J(E E)/k z /.),H ,\'/M
) = -2 zenldle Ve i T
A

J(Es—ENE/E o )
:-—_é_e ¥ <¢{‘H4‘\PL>



Celt) = & -

LR
+

t
[)

(4

J(E(, ‘EL') 'Ll/'la

<y ) R V> 3




V\:’S /——-_———- 4;\
;/ (/2 Ho iKL -+ V(PQ
O =] 0Oexel
3amd T X M { s, tlselere Ma
0 ! ey I
M) = LS (x-E) e 5\l
X ‘—9%
Lel s ced fh!q[M, §¢I¢\-lt do he n =~
Dt U B ¢ &
C;/é) —'S\c‘, "?Fe J'b( Sw\( ﬁ) ¢\ (1X>1f[x _,) T
: ((E¢ LA - InnE _t
= Sf’ s -:: fgit’ € 2’[—: $M( .—2-41) Sv\/\(%) €
)
*—t—-lvi(E#'E )t/
:{1“ Ky s'u(?{) [ l j 1 1
-1+ i(E-ED



(E& = Eé)/i;. = C-.Dfl OPC('//QVPO'A f"ctlkehg
t/a- + ¢ LJ‘c —1

(:glf) = 8;1"'L£5—'M% ) = + 2adp; a

’

'Zi

ProLaL ,l‘j fo be dodecled v s dal< ,F‘lwv\-’\ ;‘1
fwt o,
- - € 1 *f)!¢ VZC fé;— U

+LJ;'

1M €1 \

-Zf/z
= zwg(&%,,-é)-é

*1 + (wy'é’)'“

_2t
~r
&




SR EVEY i sl o
L T+ (L9, 2)
Lt =>Y
P .| aaT NN,
¢ f
€73
fasder osclllabion Wpy<  Wy> W07 W
£=% ‘ T
=2

.
e
e
LT
ooooooooooooooo
ooooo
ooooo




